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MODULE-1I

Answer g. no. 6 and any one from question no. 4 and 5.

How would you explain the transition from lineage society to
state system in ancient India ? 10

Discuss how scholars of social ecology have interpreted the
caste system as a form of ecological adaptation. 10

a) How did the multiple strands of imperial ideology
converge to justify British rule in India ?
OR

b) Did the 19th century discourse on ‘women’s question’
change substantially in the early 20" century ? Elucidate.
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Answer g. no. 3 and any one from question no. 1 and 2.

1. Discuss the nature of ‘Indian Feudalism’. 10

2. Did caste under colonial rule become one important term
capable of expressing, organising and systematizing India’s
diverse forms of social identity ? 10

3. a) Write ashort note on the urban morphology of cities in

India. 5
OR

b) What are the different sociological approaches to

studying markets in India ? 5
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